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06,

(T QPO T (@97 ARG fiG7 a0 100pA OTF 150pA @ THrs Tar Sesa s I8pA (A 147pA

TS 27 | INED WA= wyi¥a a3 Fa0 o3y fefr o [RUET'18-19]
Al 147-98
AAEE: o = T 0.98 (Ans.)
_ &« _ 098 =
B = 1-a 1-098 "’ B =49 (Ans.)
afo A4 Fees [Redtad eRE are 70 =) 1M M99 2412 8.8 mA T, SIE0E MRS G392 A1y 241z 1= fAdy
4| JARETA0 347 TAgrRe AJ 367 7 o9 903, o9 2918 91 972 [BUET'16-17]

AAYIH: (LE) =70= 1[: - ?U[E = IE = IB ‘ [(: = [[:_ = 7113 = IB = o2 = 0.124mA
I8/ cE 71

QR I =70 x - =8.676mA - (<) =a=-L|p= (i) ] = 0.986 (Ans.)
35 CB CE

] g 1403 lg
(¥) n-5rE7 CIRFEFoT 7 |[BUTex’10-11]
FAY: (T 9 WERRIE I GifesEEa Jd euE FEma Aee@iSt Gie Jmeg i G 0 Sas n -
BI3% CINS3d 90 | |
(<) FrHAfESHE fo?

SagiE: Transducer 26 OF A F@ae T UF *fera oW «fFre @oifes o @IF- TSP,
TV Antena 297 transducer a9 A=A |

(@ I (3 JARPOEA (@R w0 8 fNGR SIS I 5% 107 amp @ 1x107° amp | I A0
Qe FICED ¢34 Tiga o, Frefg o9 [RUET’08-09]
T G, [, =5x 10 A3 I, =10~ Amps 1. =?

[ =11, =5x10"A; a= II_: = lelﬂiiA =0.5[Ans.]

436 I fres Grferte A Mo 49z 0.85mA «9: @ @31z 0.05mA | o ¢ f @3 IW fafa
91 [RUET’07-08]

TYEH: (1S Wy, 1, =0.85 mA,I; =0.05mA
[ I.-E; 085-0.05 038

s @i, o =< =-F =—— =0.941 (Ans)
L I 0.85  0.85
I, I.-1 0.85-0.05 0.8
@@ P=—-="—"—>= = =16 (Ans)
. L 0.05 0.05
(@ MO e FaR® edZ 0.95mA @32 Fiesies 3% 0.966 mA | FRfersafta o ase B fadr +a
I. 0.95mA
s 1o=1,+1., [, =0016; o.=-C= =0.9834 _
ETRTe T [ 0.966mA D)
| 0.95
B=—"-= =359.375 (Ans.) [RUET’03-04,04-05]
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U7. @ GWEEOLE 8.0mA e 2RR AfMIeEe Gy 7.9mA TaRT e[z «iffads 9he | QR [9de eds o
G P 53 B ([T F9 | [KUET?03-04]
T Alg = Al-Ale =8-7.9=0.1mA - o= 2c _72 _ 9875 (Ans.)

Alg 8
Al. 7.9
— =—"=79 (Ans.
P Al, 0.1 )

08. @I p-n TetTe REI@T 2.0 volt ot ARG 2.2 volt F41 o711 IO @7 ©feR 2AZ 400mA (WF @
800mA =z | sifes @Y %7 [BUTex’01-02]
T Al= (800—400)mA = 400 x10°A; AV =(2.2-2) V=02V
R _AV_ 02 050

Al  400x10

MCQ

01. s @ames 11.6mA RS s 24wz 10.92mA =(fa$T ¥6r77 | B 937 ¥ 97 IKUET'18-19]
(a) 19 (b) 18 (c) 16 (d) 13 (e) 15

s (o) @ = Ale — 1092 _
(C); B = Alg  11.6-1092 16
02. & @FElTEa “fFwef 23z (AC) & aFA (DC) TAT T IS A0 FTAFIA FHA (T 49T 9GS T
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04,

05.

06.

07.

08.

HAoF I%- [Ans: d] [SUST'17-18]
(a) AC 2R1E 4373 71 (b) AC ez 3fF wat

(c) AC (STHEgr 3l (d) DC &3z o5 41 () FAIEE 71 T4t
90 F99 afI51F FAErHEa B @9 WW 100 03 o 9F TH IO (172 [BUTex'16-17]
(2) 1.01 (b) 1.00 (c) 0.99 (d) 0.01

AAYL: (c); & = -;:—1- = —2 = 0.99

n G127 94 #fa=e ov@ frea @il e5? [Ans: ¢] [BUTex’15-16]
(a) ny = n, (b) nj, > n, (c) np < ng (d) ny = n,

98 (F R FHLATT FoITA 4| IKUET’15-16]
(a) 1100010 (b) 0100011 (c) 1000011 (d) 100011 (e) 110001

AN (a); Use a calculator

42 CIASF - [Ans: a] [BUTex’14-15]

(a) G=lbFEE (b) Bferoa (c) SraferEmE (d) ¥5
(@1 QT AR Ao HTAN AIF | 97 AT 2412 0.88mA G32 AF 2[4 0.065mA | 2[41% a7 wel

87 [KUET’14-15,RUET’09-10,CUE'1""13-14]
(a) 0,942 (b) 0.93 (c) 0.95 (d) 0.96 (e) 0.926
AY: (e); Ig + I¢ = Ig= 0.065mA + I = 0.88mA=I. = 0.815A .. a = :—C = %5 = 0.926
——

aF% p—n T4 T 400mA SR 2AMTF ARETT W wa yR dnw 0.1V e s wifaasy 27 |
3319 @4 72 |IBUTex’13-14]
(a) 0.25Q (b) 0.3Q (c) 0.150 (d) 0.35Q

A :
Y (a) ; R = ?=01:0.25Q
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16.

17.

18.

19.

G0 AR G FAGETT 7edizd 4317 0.85A @32 O &4 0.05mA | 2312 f736$ weis 92| RUET 13-14]

(a) 0.99994 (b) 1.99994 (c) 0.49999 (d) 4.9999 (e) None
TE: (a) ; I; =0.05mA, 1. =0.85A
ez fdream, a=C=—c_—___ 085 4999,
I. I.+I; 085+0.05x10

@3f5 GRS (F@ o= 0.9549% I = 0.9mA T B T T? [KUET’13-14]
(a) 19 (b) 16 (c) 18 (d) 12 (e) 10
FAYE: (a); ' =% =19 ; a=0.95

l-a 005
G0 WFAYE WEARER p — WA n — <@+ fefa v - [BUET’12-13]
(a) 37 fage Af=ifEet Geat (b) 324 @IT4T 72 G
(c) 21 ©I°f 4T A (d) =-2023 =R A=y
Ftg: (d) ; Hall-effect experiment determines the majority career of current flow.
0.02A s efqirad Fe q3f6 GRfErDE 18mA TRaATZd 2[1Z #NGH (51 | FTATEroTad Sf e[z I+ 397
(a) 38mA (b) 2A (c) 2mA (d) 0.2A (e) 0.38A
A (c); I =0.02A, 1. =18x10"A, I, =7 |[KUET’12-13]
[=Ig+lc =l3=I; -1c =002-18x10° =2x10°A =2mA
G0 GEAEFOET RS wam (.98 w3z WS TS 1.5 mA A I0A8T 97 [RUET’12-13]
(a) 7.47 mA (b) 4.74 mA (c) 4.17 mA (d) 1.74 mA (e) 1.47mA

TMGE: (€) ; o = 2 ; Al =0.98x1.5mA = 1.47mA

'I'I

(@IF SIS & 49079 @it 3w o [Ans: ¢][BUTex’12-13]
(a) I TS (b) fa=Hre @ite

(c) 7Y @ f4+i3re Ten @iite (d) ST

e clitee owta [Afem & 1 (Forbidden energy ) 99 T7 T97? [BUTex’12-13]
(a) l.leV (b) leV (¢) 0.7eV (d) 0.3eV

YE: (a); FifFemm o s «fE i =1.1eV , wnifmier v s «f& #=0.7 eV

Ge WEARMIRIT Ao TS @ %I93 HTA T4 *If&q F1F 38 eV 7 |Ans: ¢] [SUST’12-13]
(a) 0.3 (b) 0.5 (c) 0.7 (d) 1.3 (e) 3.0
ST AR HJe A @G e «faiEs ane? [Ans: d] [SUST?’12-13]
(a) Al (b) Fe (c) Ag (d) Si (¢) Cu

Ao (@SOS (S=rS R T92[ 90 p 53+ d=Rardia «f snem AW w7 [Ans: b][BUET 11-12]
(a) arrEgfaferarT (b) afeafq (¢) eoiferar (d) 2R

P — N T FeLAPIELA fCrapis Teaa sjfeq oia 2a1- |[Ans: b] [BUET’10-11]

(a) REAI©IGT  (b) WK IST G () LA SIS (d) oG S-G9 FHIe
QF0 p—n T W 400 mA SITR 23itzd RS e 9 2 eitw 0.1 V &9 AT sfaasT = |

3219 @14 57 [CUET’10-11}
(a) 0.25 O (b) 0.3 Q (c) 0.15 O (d) 0.35 O
ANYE: (a) ; R:ﬂ e ek =0.25Q

Al 400x10°



